Confirm

Eval yes/no |Replacement Patterns(#) Session1 Session2
FINAL good Loose good +/- incorrect Loose
GRADE SSN answers | +/-answers incorrect answers | initiativity | answers answers | answers | initiativity
C+ XXX-X0-7561 A n n 10/? ? ? all ? ? ? all
A XXX-X0-9225 A y n 20+ 9 4 2 1 8 2 5 2
B XXX-X2-7045 C y n 20+ 15 0 0 0 5 0 10 0
XXX-X2-8907
B- XXX-X4-0918 C y n 10+ 5 10 0 1 0 14 1 1
all +/- (gets
A XXX-X4-1865 A y y 20+ 10| y/n ok) 0 0 3 11 1 0
C XXX-X4-5205 B n n 15+ 0 14 1 2 0 13 1 1
B XXX-X4-5668 A n y 10+ 6 2 7 0 7 2 6 0
XXX-X4-6261
XXX-X4-6318
A XXX-X6-5624 A n y 15+ 6 5 4 2 5 7 3 4
C XXX-X8-6051 C n n 10+ 3 10 2 4 3 12 0 1
XXX-X8-9229
A XXX-X9-2145 A y y 30+ 12 1 2 0 3 5 7 0




